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QUESTION 1

Which FOUR Oracle Data Pump impdp parameters should you use when migrating to Autonomous Database? (Choose
all correct answers)

A. TRANSFORN PORTABLE=ALWAYS

B. TRANSFORN=SEGMENT_ATTRIBUTES:N

C. TRANSFORM=CONSTRAINT_USE_DEFAULT_INDEX:Y
D. TRANSFORN=DWCS_CVT_IOTS:Y

E. REMAP_TABLESPACE=DATA

F. REMAP_SCHEMA=SYSTEM

Correct Answer: BCDE

QUESTION 2

Which statement is true?

A. One PDB consists of only one CDB.

B. One CDB canhave only one PDB.

C. One PDB consists of multiple CDBs.

D. One CDB can have one or more PDBs.

Correct Answer: D

QUESTION 3

What TWO ways does Data Pump use to move data to the cloud? (Choose all correct answers)
A. RMAN Backup and Restore

B. pdb unplug/plug

C. import over Oracle Database database link

D. import dump file from OCI Object Storage

Correct Answer: CD

QUESTION 4
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Which tools can be used to perform Oracle Zero Downtime logical migration? (Choose two.)
A. Oracle GoldenGate

B. RMAN

C. Data Guard

D. Data Pump

Correct Answer: AD

QUESTION 5

Which view is used to measure the replication latency between source and target when using the automatic heartbeat
table feature, in GoldenGate?

A. gg_lag

B. goldengate_lag
C. ogg_latency

D. Lag_view

Correct Answer: A

170-1094-22 PDF Dumps 170-1094-22 Practice Test 170-1094-22 Study Guide

170-1094-22 PDF Dumps | 1Z0-1094-22 Practice Test | 1Z20-1094-22 Study Guide 3/3


https://www.geekcert.com/1z0-1094-22.html
https://www.geekcert.com/1z0-1094-22.html
https://www.geekcert.com/1z0-1094-22.html
http://www.tcpdf.org
https://www.geekcert.com/1z0-1094-22.html
https://www.geekcert.com/1z0-1094-22.html
https://www.geekcert.com/1z0-1094-22.html

